



West Virginia Purchasing Division

2019 Washington Street, East
Charleston, WV 25305
Telephone: 304-558-2306
General Fax: 304-558-6026
Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at wvOASIS.gov. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at WVPurchasing.gov with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Solicitation Response(SR) Dept: 1400 ID: ESR01072600000003793 Ver.: 1 Function: New Phase: Final

Modified by batch, 01/07/2026

Header 2

List View

[General Information](#) [Contact](#) [Default Values](#) [Discount](#) [Document Information](#) [Clarification Request](#)

Procurement Folder: 1851248

SO Doc Code: CRFQ

Procurement Type: Central Purchase Order

SO Dept: 1400

Vendor ID: VS0000049405

SO Doc ID: AGR2600000026

Legal Name: ASIMER TECH LLC

Published Date: 12/31/25

Alias/DBA: 7

Close Date: 1/7/26

Total Bid: \$19,162.18

Close Time: 13:30

Response Date: 01/07/2026

Status: Closed

Response Time: 8:07

Solicitation Description: IT Dell Network Switches, Cabling & Maintenance

Responded By User ID: asimer123

Total of Header Attachments: 2

First Name: Muhammad

Total of All Attachments: 2

Last Name: Umer

Email: contact@asimertech.com

Phone: 9793004169



Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

**State of West Virginia
Solicitation Response**

Proc Folder: 1851248

Solicitation Description: IT Dell Network Switches, Cabling & Maintenance

Proc Type: Central Purchase Order

Solicitation Closes	Solicitation Response	Version
2026-01-07 13:30	SR 1400 ESR01072600000003793	1

VENDOR

VS0000049405
ASIMER TECH LLC

Solicitation Number: CRFQ 1400 AGR2600000026

Total Bid: 19162.18000000000029103830456 **Response Date:** 2026-01-07 **Response Time:** 08:07:06

Comments:

FOR INFORMATION CONTACT THE BUYER

Larry D McDonnell
304-558-2063
larry.d.mcdonnell@wv.gov

**Vendor
Signature X**

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Two (2) Dell PowerSwitch S5224F-ON Ethernet Switches (Dell P)	2.00000	EA	9581.090000	19162.18

Comm Code	Manufacturer	Specification	Model #
43222612			

Commodity Line Comments:

Extended Description:

Please see section 3.1.1 in the specifications attached.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Two (2) Dell 0.5 Meter 100GbE QSFP128 Passive Twinax DAC Cab	2.00000	EA	0.000000	0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Commodity Line Comments:

Extended Description:

Please see section 3.1.2 in the specifications attached.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Twelve (12) Dell 1 Meter 25GbE SFP28 Passive Twinax DAC Cabl	12.00000	EA	0.000000	0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Commodity Line Comments:

Extended Description:

Please see section 3.1.3 in the specifications attached.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Eight (8) Dell 2 Meter 25GbE SFP28 Passive Twinax DAC Cables	8.00000	EA	0.000000	0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Commodity Line Comments:

Extended Description:

Please see section 3.1.4 in the specifications attached.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Four (4) Dell 3 Meter 25GbE SFP28 to SFP28 Passive Twinax DA	8.00000	EA	0.000000	0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Commodity Line Comments:

Extended Description:

Please see section 3.1.5 in the specifications attached.

From: Asimer Tech LLC
 Jimmy King
 5900 Balcones Drive # 9052
 Austin, TX 78731
Email: jking@asimertech.com
Phone: (979) 300-4169

To: Larry D. McDonnell
 West Virginia Department of Agriculture
 163 Gus R. Douglass Lane
 Charleston WV 2531
Email: Larry.d.McDonnell@wv.gov
Phone:

Terms FTIN: 33-3529566
 Shipping: FOB Destination
 Payment Terms: Net 30
 Cage Code: 128K0
 DUNS No: 136642848
 Credit Cards: VISA/MASTER
 Contract Type: Open Market
 Contract #: OM
 Credit Card Fee May Apply
 Sales Tax May Apply
 T&C May Apply

Quote No:	SQ261005
Quote Date:	1/7/2026
Quote Expiry	1/16/2026
RFQ:	1851248
Unique EID:	W9NLZJEPVYK3
Shipping:	Ground
Total Price:	\$ 19,162.18

Line No.	Part #	Description	QTY	Unit	Extended
1	210-APHQ	Dell EMC S5224F-ON Switch, 24x 25GbE SFP28, 4x 100GbE QSFP28 ports, IO to PSU air, 2x PSU	2	\$	5,804.78 \$ 11,609.56
2	343-BBLP	Dell EMC S52XX-ON Series User Guide	2	\$	1.10 \$ 2.20
3	634-BRWJ	OS10 Enterprise, S5224F-ON	2	\$	1,249.15 \$ 2,498.30
4	818-4983	Dell Hardware Limited Warranty 1 Year	2	\$	- \$ -
5	818-4996	ProSupport:Next Business Day Onsite Service After Problem Diagnosis, 1 Year	2	\$	2.62 \$ 5.24
6	818-4998	ProSupport:Next Business Day Onsite Service After Problem Diagnosis, 4 Years Extended	2	\$	304.78 \$ 609.56
7	818-5018	ProSupport:7x24 HW/SW Technical Support and Assistance, 5 Years	2	\$	1,418.22 \$ 2,836.44
8	975-3461	Dell Limited Hardware Warranty Extended Year(s)	2	\$	- \$ -
9	989-3439	Thank you choosing Dell ProSupport. For tech support, visit //www.dell.com/support or call 1-800- 945-3355	2	\$	- \$ -
10	997-6306	Info 3rd Party Software Warranty provided by Vendor	2	\$	- \$ -
11	883-BBFN	No Field Deployment	2	\$	- \$ -
12	701-6538	Infrastructure Deployment Selected	2	\$	- \$ -

13	848-8539	5 Years ProSupport OS10 Enterprise Software Support-Maintenance	2	\$	336.31	\$	672.62
14	470-ABOU	Dell Networking Cable, 100GbE QSFP28 to QSFP28, Passive Copper Direct Attach Cable, 0.5 Meter	2	\$	85.13	\$	170.26
15	470-BBCX	Dell Networking, Cable, SFP28 to SFP28, 25GbE,Passive Copper Twinax Direct Attach Cable,3 Meter	4	\$	34.33	\$	137.32
16	470-BBCY	Dell Networking, Cable, SFP28 to SFP28, 25GbE,Passive Copper Twinax Direct Attach Cable,1 Meter	12	\$	28.84	\$	346.08
17	470-BBDC	Dell Networking, Cable, SFP28 to SFP28, 25GbE,Passive Copper Twinax Direct Attach Cable,2 Meter	8	\$	31.58	\$	252.64
18	450-AAFH	Power Cord, 125V, 15A, 10 Feet, NEMA 5-15/C13	2	\$	5.49	\$	10.98
19	450-AAFH	Power Cord, 125V, 15A, 10 Feet, NEMA 5-15/C13	2	\$	5.49	\$	10.98
				Subtotal	\$	19,162.18	
				Shipping & Handling	\$	-	
				Sales Tax	\$	-	
				Total	\$	19,162.18	

Free Freight.
Lead Time is 10-14 Business Days ARO.



Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

State of West Virginia
Centralized Request for Quote
Info Technology

Proc Folder: 1851248	Reason for Modification: Addendum No. 01		
Doc Description: IT Dell Network Switches, Cabling & Maintenance			
Proc Type: Central Purchase Order			
Date Issued	Solicitation Closes	Solicitation No	Version
2025-12-31	2026-01-07 13:30	CRFQ 1400 AGR2600000026	2

BID RECEIVING LOCATION

BID CLERK
DEPARTMENT OF ADMINISTRATION
PURCHASING DIVISION
2019 WASHINGTON ST E
CHARLESTON WV 25305
US

VENDOR

Vendor Customer Code: VS0000049405

Vendor Name : Asimer Tech LLC

Address :

Street : 5900 Balcones Drive # 9052

City : Austin

State : TX

Country : USA

Zip : 78731

Principal Contact : Muhammad Umer

Vendor Contact Phone: (979) 300-4169

Extension:

FOR INFORMATION CONTACT THE BUYER

Larry D McDonnell
304-558-2063
larry.d.mcdonnell@wv.gov

Vendor
Signature X *Muhammad Umer*

FEIN# 33-3529566

DATE 1/7/2026

All offers subject to all terms and conditions contained in this solicitation

ADDITIONAL INFORMATION

Addendum No. 01

To post answers to vendor questions.

The bid opening date and time still remains 01/07/2026 at 1:30PM EST/EDT.

No other changes

INVOICE TO		SHIP TO	
AGRICULTURE DEPARTMENT OF ADMINISTRATIVE SERVICES 1900 KANAWHA BLVD E CHARLESTON US		AGRICULTURE DEPARTMENT OF INFORMATION TECHNOLOGY DIVISION 163 GUS R DOUGLAS LN, BLDG 1 CHARLESTON US	
WV		WV	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Two (2) Dell PowerSwitch S5224F-ON Ethernet Switches (Dell P)	2.00000	EA	\$5,804.78	\$11,609.56

Comm Code	Manufacturer	Specification	Model #
43222612	Dell		

Extended Description:

Please see section 3.1.1 in the specifications attached.

INVOICE TO		SHIP TO	
AGRICULTURE DEPARTMENT OF ADMINISTRATIVE SERVICES 1900 KANAWHA BLVD E CHARLESTON US		AGRICULTURE DEPARTMENT OF INFORMATION TECHNOLOGY DIVISION 163 GUS R DOUGLAS LN, BLDG 1 CHARLESTON US	
WV		WV	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Two (2) Dell 0.5 Meter 100Gbe QSFP128 Passive Twinax DAC Cab	2.00000	EA	\$0.00	\$0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Extended Description:

Please see section 3.1.2 in the specifications attached.

INVOICE TO	SHIP TO
AGRICULTURE DEPARTMENT OF ADMINISTRATIVE SERVICES 1900 KANAWHA BLVD E CHARLESTON US	AGRICULTURE DEPARTMENT OF INFORMATION TECHNOLOGY DIVISION 163 GUS R DOUGLAS LN, BLDG 1 CHARLESTON WV US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Twelve (12) Dell 1 Meter 25GbE SFP28 Passive Twinax DAC Cabl	12.00000	EA	\$0.00	\$0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Extended Description:

Please see section 3.1.3 in the specifications attached.

INVOICE TO	SHIP TO
AGRICULTURE DEPARTMENT OF ADMINISTRATIVE SERVICES 1900 KANAWHA BLVD E CHARLESTON US	AGRICULTURE DEPARTMENT OF INFORMATION TECHNOLOGY DIVISION 163 GUS R DOUGLAS LN, BLDG 1 CHARLESTON WV US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	Eight (8) Dell 2 Meter 25GbE SFP28 Passive Twinax DAC Cables	8.00000	EA	\$0.00	\$0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Extended Description:

Please see section 3.1.4 in the specifications attached.

INVOICE TO	SHIP TO
AGRICULTURE DEPARTMENT OF ADMINISTRATIVE SERVICES 1900 KANAWHA BLVD E CHARLESTON US	AGRICULTURE DEPARTMENT OF INFORMATION TECHNOLOGY DIVISION 163 GUS R DOUGLAS LN, BLDG 1 CHARLESTON WV US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Four (4) Dell 3 Meter 25GbE SFP28 to SFP28 Passive Twinax DA	8.00000	EA	\$0.00	\$0.00

Comm Code	Manufacturer	Specification	Model #
43222612			

Extended Description:

Please see section 3.1.5 in the specifications attached.

SCHEDULE OF EVENTS

<u>Line</u>	<u>Event</u>	<u>Event Date</u>
1	Vendor questions due by 2:00PM EST/EDT	2025-12-29

